vy

EXIT Play-tower (+ swing)

& WARNING 9

Adult assembly required
retain for future reference

MPE-AQ18-V02



cH

EXIT lvy Product overview

www.exittoys.com

MPE-AQ18-V02

ASSEMBLY
VIDEO




vy

EXIT Play-tower (+ swing)

Tower part 1

vvvvvv.exittoys.com MPE-A018-V02




© 40 __ =0 .0

'\

68.53.20.01 | 2x 68.53.20.02 68.53.20.03 | 1x] " 68.53.20.07
68.53.20.08 | 2x 68.53.20.09 | 1x| 68.53.20.10 | 1x] 68.53.20.11 | 6X
68.53.30.05 | 8X 68.53.20.12 68.53.20.13 68.53.20.14 | 1x|
68.53.20.15 | 1x| 68.53.20.18 | 1x|
o O 9
A\ \ \ \
— AR>
68.53.20.31 | 1x] 68.53.20.33 | 1x|
é I q = 5 %
300mm 306mm
68.53.20.35
(6]
—_—
68.53.80.01 | 4X 68.53.80.02 | 4x

*
BOX REFERENCE: | XX.X @

propucTion 1D: | xxxB XXX

ICONCRETE
25kg

@ 4x

WWww.exittoys.com MPE-AQ18-V02



vy

EXIT Play-tower (+ swing)

@w//ﬂﬁﬁ @% ® O

68.53.20.04 | 2x " 68.53.20.05 | 2x] 68.53.20.06 | 4| 68.53.20.20 | 2x]

68.53.20.22 | 1x 68.53.20.23 | 2x 68.53.20.24 | 4x

____________________________ N /

|

Q

/ \
11 I
[M8x60 [ 14 [MB8x50 |20X L [3,5x40 [8x | [35x30 [32x] |
1| I
@ [ |
[

1 [M3xe0ex] ool [x] |

|

|

|

®
Y
e i ~—
-

[Tool [ 1x| [Tool [ 1x|

[ \
K @ :
[ I
[ I
@ [M6x90 | 2x]
® (o /y\ - |
(. |
Va2 | 4 X N |
\ ;I : [MBx15_[9x | [M6x12 [6X | :
____________________________ e | |
(68.53.20.28 | 1x| @D (57] ‘ |
Box 2/2 I aD I
| |
: M6 [ 11x IM6x16 [9x | :
| |
| |
| |
| |
| |
| |
\ ]

*
BOX REFERENCE: | XX.X @

propucTion 1D: | xxxf XXX

168.53.20.30 | 1x|

vvvvvv.exittoys.com MPE-A018-V02 a




WWww.exittoys.com MPE-AQ18-V02 5




EXIT Play-tower (+ swing)

MPE-AQ18-V02

Www,.exittoys.com






EXIT Play-tower (+ swing)

MPE-AQ18-V02

Www,.exittoys.com




1400

“%
.

1400
MPE-AQ18-V02

www.exittoys.com



EXIT Play-tower (+ swi




o9le

Single swing

\
A
i
LR
AR
LRI
RATHEHTRNY

\

AR
AT
AR
i

AT
MR
TR

W

www.exittoys.com

2680

MPE-AD18-V02




vy

EXIT Play-tower (+ swing)

. — ©. . 0/

168.53.30.01 | 2x 168.53.30.02 | 2x 168.53.30.03 | 1x |
@ G "3 @ 1T10mm @ 110mm
Black Green
168.53.30.04 | 1x | 168.53.30.05 | 1x | 168.53.30.06 | 2x|
(67 @
C o[ -]
68.53.80.10 | x| (68.53.80.01 | 2x] (68.53.80.02 | 2x]

@W

[68.5310.01 | 1x]"

—_—— e e e e e e e — — — —  —  — — — — — — — — — — — — — — — — — — — — — — — — — — — — — —

| ;
@ = erc (@) @ = :
| |
i B18 @ Bp @ i
: M8 [10x M8 10x
' ® 0 @ o @ 2>
] [M8x30 | 2x] Tool )

~N e e e e e e e e e e e e e — — — — — — — — — — — — ——— - — — —

* BOX REFERENCE: | XX.X ‘68l53!10l02 ’ 1X‘
PRODUCTION 1D: XXX()(X% @
& °

Wwvv.exittoys.com MPE-A018-V02 12




1400

200

MPE-AQ18-V02

1420

Q,
AA/

N

200

00C

E
S
wv
>
g
:
@
=
=
=




(+

EXIT Play-tower




WWww.exittoys.com MPE-AQ18-V02



vy

EXIT Play-tower (+ swing)

CONCRETE| _l_ W

www.exittoys.com MPE-AQ18-V02




WWww.exittoys.com MPE-AQ18-V02 17




vy

EXIT Play-tower (+ swing)

vvwvv.exittoys.com MPE-A018-V02



WWww.exittoys.com MPE-AQ18-V02



EXIT Play-tower (+ swing)

MPE-AQ18-V02

Www,.exittoys.com




091e

m
.Co
EXIttoys

W,

w

w

.'15!
uble swi
Do

T
T
iy 1,
i
..:::.."
.nrrr::::
.ummuu 1
4!,",,,".""' Vg
ruuunuuummm
ruunuuuumnuu
uum muumm
u"u"u""uul""l
rununumnuuu
ruuunnu""
numuuuu
muum 1y
rumuuu
muu
by iy
rulnnu" Sy
mumum
mmuu
i
Tte!
v
v

)

nn""n

uuuumm

mumu I

mummuu
g

3400

02
EADIEY
MP

1
py
D




vy

EXIT Play-tower (+ swing)

Q__— 0. M®

168.53.30.01 | 2x| 168.53.30.02 | 2x| 168.53.30.03 | 1x |
D, . @ (o5 )
U ‘B 110mm 110mm
Black Green
168.53.30.04 | 1x | 168.53.30.05 | 3x| 168.53.30.06 | 2x|
(67 C ®
=1 - )
68.53.80.10 | 2 (68.53.80.01 | 2x| (68.53.80.02 | 2x|
@ Y @
e e
(68.53.00.01 | 1x]” 168.53.00.02 | 1x|
S e e e e e e e e e e e \
|
: :
|
® ™ © O O = :
|
!
| @ ® |
|
@ O 22 ) @ 2727
'\ MBx30 | 4 :

~ e e e e e e e e e e e E m E — — — — — — — — — — — — — — — — — — — —— — — — — — — — — — — — —

—

168.53.00.04 | 1x]
PRODUCTION ID: XXX(XX% @ % :[—!

\
b

@ 2x

Wwvv.exittoys.com MPE-A018-V02 22




1400

MPE-AQ18-V02

2140

)
23&0

200

rllv
00T

olol
ozt

E
S
wv
>
g
:
@
=
=
=




EXIT Play-tower (+ swi




WWww.exittoys.com MPE-AQ18-V02 F13




vy

EXIT Play-tower (+ swing)

ICONCRETE

25kg

www.exittoys.com MPE-AQ18-V02



WWww.exittoys.com MPE-AQ18-V02




vy

EXIT Play-tower (+ swing)

Wwvv.exittoys.com MPE-A018-V02 28




WWww.exittoys.com MPE-AQ18-V02 29




EXIT Play-tower (+ swing)

30

MPE-AQ18-V02

Www,.exittoys.com



MPE-AQ18-V02

E
S
wv
>
g
:
@
=
=
=




vy

EXIT Play-tower (+ swing)

Tower part 2

vvvvvv.exittoys.com MPE-A018-V02




muumuuuun
umuuumunm
f nnmmunuul
f mnmuuunum
1 umuumum
,«',.:.:'n'uuum
fri I
e
iy

W\
NI
u..nm
R
R
R

TR
AR
any

W

A\

AR

A
m.m.‘
nn\\n
L

W
I\
—
A\

4/9
—
\\\l L
L\ !
\ E L
T\ = ~ |
- 1
. : =
1 /l
E, :E —
I /'
1 /l
D ,: ?
v sl
1 =
1 1
v 1!
1 =1 1
1 1
I "
1 =1 /l
1 | 4 1
1 1
1 1
1 — 1
1 /
v L
1 A\
1 A\ -
1 - ===
' -
'O A -
1 A\ ---
| -
1
\
[

V02
018

E-A

MP
oys.com
itt

ex

WW

w




vy

ing)
+Sw
-tower (

Play

EXIT

8x

1y
y, T
muuuuum
rumumum
'"ul"ul"l"
uunuu 1y
mumunu
rmuummu )
rmuumu

», >
it
et 3
—— it

mmuu
o
Iny

02
PEADIEY
M

m
.co
exittoys

W,

W

W




'“
“77
i
',""n
y,
'"

1y
i
"".'..,'
"
it it
! i
4 ""'
"','
|

0
g i i
I, llllll"" :
'l'llllll',",
,.r{f'.'. ,':,

I
I

ST
=
R
PR
:\“’"“-:\e
W
A 8
2SR ‘\
..-;-‘.\.\ N
u‘-‘e_.\\\\ 3
T R
i RS
R \

N
TR
W
W

m
.Co
exittoys

W,

W

W



vy

EXIT
Play-
y-tower (+ swi
ing)

| o

nl""'l’

u"””’,

”’,,l”
H

WW
o
.exittoys.c
.c0m




I
ALY
Ny
Wiy

T

T
““\\\\\1.
“\‘|\\\\\\\
““‘|\\\

WW
W
exitt
0
ys.com
MPE
-A018
V02









EXIT Play-tower (+ swing)

MPE-AQ18-V02

Www,.exittoys.com



www.exittoys.com



vy

EXIT Play-tower (+ swing)

T T







EXIT Play-tower (+ swing)

MPE-AQ18-V02

£
=
wn
>
£
£
@
s
=
=




WWww.exittoys.com MPE-AQ18-V02




vy

EXIT Play-tower (+ swing)

vvwvv.exittoys.com MPE-A018-V02




Contact iInformation:

Dutch Toys Group B.V.
Edisonstraat 83
7006 RB Doetinchem, The Netherlands

WWW.exittoys.com

info@exittoys.com
www.exittoys.com

8117211111202641

EXIT Toys is part of:

EXIT Tays is a registered trade mark of Dutch Toys Group




